

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

CHINA TAIPING INSURANCE (S) PTE LTD 3 ANSON ROAD #16-00

SPRINGLEAF TOWER SINGAPORE 079909

SINGAPORE 079909

INV No. AC2007426

INV Date 05/11/2020

Reference CC3/CTI19013881/K1ka3s2

Code CT

PROFESSIONAL SERVICE FEE

Vehicle No. SHB 8835A

Insured Veh. SLK 7611R

Claim No. SNM19D203671

Policy No. DMPCSN1708751902

Accident Date 04/08/2019

Inspection Date 06/08/2019

Description	Total
Third Party Express Settlement	400.00
Subtotal	400.00
GST (7%)	28.00
Grand Total	428.00

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

RSA



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internationale Des Experts En Automobile				
CHIN	CHINA TAIPING INSURANCE (S) PTE LTD Ref: CC3/CTI19013881/K1ka3s2				
3 ANSON ROAD #16-00 SPRINGLEAF TOWERSINGAPORE 079909		Date: 05-11-2020 Code: CTI			
1.		Policy Particulars	:- THIRD PARTY CLAIM		
	Insured Veh.	SLK 7611R	Veh. Inspected	SHB 8835A	
	Policy No.	DMPCSN1708751902	Coverage (\$)	0.00	
	Claim No.	SNM19D203671	Excess (\$)	0.00	
	Assign From		Assign Date	06/08/2019	
2.		Vehicle Partic	culars & Condition		
	Make & Model	KIA OPTIMA	c.c	1685	
	Engine No.	HIDDEN	Year of Reg.	2014	
	Chassis No.	KNAGM414ME5453467	Colour	SILVER	
	Odometer	782681	Steering	IN ORDER	
	Brakes	IN ORDER	Modification	STANDARD ALLOY RIM	
	General	FAIR			
3.		Condition	ons of Tyres		
		Size	Make	Balance	
	R/H Front Tyre	205/65 R16	BRIDGESTONE	7 mm	
	L/H Front Tyre	205/65 R16	BRIDGESTONE	7 mm	
	R/H Rear Tyre	205/65 R16	BRIDGESTONE	7 mm	
	L/H Rear Tyre	205/65 R16	BRIDGESTONE	7 mm	
4.		Description	on of Damages		
	THE VEHICLE SU	STAINED DAMAGES AT THE FRO	ONT AND REAR PORTION.		
	DAMAGES SEE D	ETAILS.			
5.		General	Information		
	Accident Date	04/08/2019	Inspection Date	06/08/2019	
	Survey held at	PREMIER AUTOMOTIVE SERVI	ICES PTE LTD		
	23 CHANGI SOUTH AVENUE 2 #01-02 SINGAPORE 486443				
5a.		Re	emarks		
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.				
5b.			Days of Repair		
	ESTIMATED NOR	MAL PERIOD FOR REPAIR:	4 Working Days		
	I				



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SHB 8835A

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET GRILLE	CRACKED	385.00	385.00
2	FRONT N/S & O/S HEAD LAMPS @ \$1028.00	SERVICEABLE	2,056.00	-
1	FRONT BUMPER	DEFORMED	531.00	531.00
1	FRONT BUMPER EMBLEM	NECESSARY	44.00	44.00
1	FRONT BUMPER CENTER GRILLE	SERVICEABLE	174.00	-
1	FRONT BUMPER LOWER STIFFER	SERVICEABLE	134.00	-
1	FRONT BUMPER TOW HOOK COVER	SERVICEABLE	14.00	-
1	FRONT BUMPER INNER SPONGE	SERVICEABLE	110.00	-
1	FRONT BUMPER REINFORCEMENT	SERVICEABLE	328.00	-
2	FRONT BUMPER O/S & N/S SIDE RETAINER @ \$16.00	SERVICEABLE	32.00	-
2	FRONT BUMPER O/S & N/S UPPER BRACKET @ \$16.00	SERVICEABLE	32.00	-
2	FRONT BUMPER O/S & N/S SUPPORT BRACKET @ \$16.00	SERVICEABLE	32.00	-
1	BOOT LID	TO REPAIR SEE LABOUR	1,119.00	-
1	BOOT LID LOCK	SERVICEABLE	99.00	-
1	BOOTLID STRIKER	SERVICEABLE	21.00	-
1	BOOTLID EMBLEM	NECESSARY	27.00	27.00
1	BOOTLID CRDI	NECESSARY	29.00	29.00
1	BOOT LID RUBBER WEATHERSTRIP	SERVICEABLE	96.00	-
1	BOOT LID LOWER GARNISH	TO REPAIR SEE LABOUR	290.00	-
2	BOOTLID HINGES @ \$66.00	SERVICEABLE	132.00	-
2	BOOTLID N/S & O/S REFLECTOR @ \$350.00	SERVICEABLE	700.00	-
2	REAR N/S & O/S TAIL LAMP @ \$421.00	SERVICEABLE	842.00	-
1	END PANEL	TO REPAIR SEE LABOUR	250.00	-
1	END PANEL INNER GARNISH	SERVICEABLE	74.00	-
1	REAR BUMPER	DEFORMED	696.00	696.00
1	REAR BUMPER LOWER COVER	СИТ	206.00	206.00
2	REAR BUMPER SIDE BRACKET O/S & N/S @ \$29.00	CRACKED	58.00	58.00
2	REAR BUMPER REFLECTOR N/S & O/S @ \$46.00	SERVICEABLE	92.00	-

Report Ref No. CC3/CTI19013881/K1ka3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR BUMPER INNER SPONGE	TORN	114.00	114.00
1	REAR BUMPER REINFORCEMENT	CRACKED	607.00	607.00
2	REAR BUMPER REINFORCEMENT UPPER BRACKET @ \$18.00	SERVICEABLE	36.00	-
2	REAR BUMPER STAY O/S & N/S @ \$53.00	SERVICEABLE	108.00	-
2	REAR BUMPER REINFORCEMENT LOWER BRACKET @ \$18.00	SERVICEABLE	36.00	-
	LESS 10% DISCOUNT		-950.40	-269.70
			8,553.60	2,427.30
	SPECIAL NETT ITEMS			
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	48.00	48.00
1	SET END PANEL INNER GARNISH CLIPS (SN)	NOT NECESSARY	30.00	-
1	SET BOOTLID INNER TRIM CLIPS (SN)	NOT NECESSARY	52.00	-
1	SET BOOTLID LOWER GARNISH CLIPS (SN)	NOT NECESSARY	60.00	-
1	SET BOOTLID STICKERS (SN)	NECESSARY	100.00	100.00
1	SET REVERSE SENSOR (SN)	SHORTED	280.00	200.00
1	REAR NO. PLATE WITH CASING (SN)	SERVICEABLE	50.00	-
1	FRONT NO. PLATE WITH CASING (SN)	DENTED	50.00	35.00
1	FRONT BUMPER CLIPS (SN)	NECESSARY	48.00	48.00
1	SUNDRY (SN)	NECESSARY	50.00	20.00
			768.00	451.00
	<u>LABOUR</u>			
	TOWING FEE.	NOT NECESSARY	50.00	-
	TO CHECK FOR WIRING AND TO FOCUS HEAD LAMPS.	NOT NECESSARY	80.00	-
	TO DISMANTLE / REPLACE REVERSE SENSOR TO NEW BUMPER AND RESET TO THE SAME.		120.00	30.00
	TO DISMANTLE / REFIT THE INNER GARNISHES, INNER LININGS, INNER TRIMS, CUSHION SEAT, CARPET, ETC TO FACILITATE REPAIRS.		180.00	50.00
	TO LABOUR CHARGE FOR DISMANTLE AND RENEW THE ACCIDENT DAMAGED PARTS. TO HEAT / WELD & CUT THE PANEL. INCLUDING KNOCK-OUT, STRAIGHTEN, REPAIR, RESHAPE AND ADJUST OF THE FLOOR BOARD COMPARTMENT, ETC. INCLUSIVE OF THE REPAIR OF BOOT LID, BOOT LID LOWER GARNISH AND END PANEL.		1,800.00	800.00

Report Ref No. CC3/CTI19013881/K1ka3s2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO PUTTY AND SPRAY PAINTING ON BOOTLID, BOOTLID LOWER GARNISH, REAR BUMPER, END PANEL, FLOORBOARD COMPARTMENT, FRONT BUMPER.		1,200.00	900.00
	TO APPLY RUSTPROOFING ON THE REPAIRED AND REPLACED PANELS.	NOT NECESSARY	120.00	-
			3,550.00	1,780.00
	GRAND TOTAL		12,871.60	4,658.30

RECOMMENDED COST OF LUMP SUM REPAIRS		3,700.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC3/CTI19013881/K1ka3s2

KALVIN ANG WEI KUN

Automotive Assessor / Investigator

1 ()

HO LEONG CHUAN

Automotive Assessor